QP CODE: 10970
Fourth Semester Degree Examination

August/ September 2024
( NEP Scheme)
POLITICAL SCIENCE
(NAC 9019) : Paper : India and Indian Constitution
103 R0 L5083¢03 TOLTR
Time : 2 Hrs. Max. Marks : 60

Instructions to students : LI RFROR B8R

1)

2)

3)

4)

I-1.

I-2.

The students should legibly write section number alongwith question numbers
within the margin ONLY.
QTR,BFeI0 Qent Kosd, Tore T,Y Boadneds) B RToN SRAFET 8o w.en wdedulesd.

The answers without section number and question numbers will not be valued.
Qen Kosd, I3 T3 LodnER) IRRDTRE WOT NITRYDY SNPOINTE INBSRLRHRY.
Section - I Multiple Choice Questions should be answered in the first page of main
answer book and same questions shall not be answered repeatedly.

n - 1808 @ wededh BIR0R wITITY 10T T8,80 BT VRO wBehLles> Tone
et ZIROR LWITIR) HRTORSFRIPTT.

Any identifications like marking, ticking, dots etc., in the options of MCQ Questions
(Section-l) on the question paper is strictly prohibited. Do not write anything
(except register number) on the question paper.

2,8 BIECDOR wn - 1 BOR W@ $oded Inen derdons wod, wo38ne (Options) =xed
cInHTe Dedcdh MOTIB TRUE WBRWR T ToBIRT, 1, WRHT, FO NOBIBY IRWZHT
(V) 23,0nes; BRI A AFORRONE. B3, 2880w Soed (f10e05388 Bos3 08} BeT3TR)
223 cSRFTe 3CBT WORHBANTR), IPRRLRTTL.

SECTION -1 &3m - 1
Select the most appropriate answer from the options provided:

gens was wod, BIRoR 1eY NWIBRUR, wod, Ina: (10x1=10)

The following date is mentioned in the preamble of the Indian Constitution.

a) January 26, 1950 b) January 25, 1950

c) November 26, 1949 d) November 25, 1949

408 ZOLRRT BFRRS0DE) BAILHATIE DTOT .....c.oe.

&) RO 26,1950 2) ®ISO 25, 1950

%) =Eowot 26,1949 ) JB0wor 25,1949

Following is not a feature of the Indian parliament - |

a) Itis the union legislature in India b) It also comprises the President

c) Itis bicameral in nature d) The upper House of the Parliament
in Loksabha

OB BOTET B OFLNEE 2md SNORHOY -
&) AT RO LBRLIT TORTOON W) R COTFZI) LRI
%) BARTEEE R0 B) RomIR BewR SpeBRLITIAT



1-3.

I-5.

I-6.

I-8.

QP CODE: 1097

Which part of Indian Constitution related to Directive principles of state policy ?

a) Partl b) Partll c) Partlll d) PartlV
10 RODTRT 3R LM 0o, AT ¢BT 3gnent ROWORRT ?

5) ol ©) wn Il %) wrt Il Q) wnlv
How many members are nominated by the president to Rajya Sabha ?
a) 2 b) 6 c) 10 d 12
OO R SR, BN, Do AT BT BRI ?

Q) 2 ) 6 2) 10 @) 12

Choose the correct statement from the following:

1. Preparation of electoral rolls to Panchayat elections are done by the Election
Commission of India.

2. The Election Commissioner is removed in the same manner of removal of the
advocate general.
a) 1only b) 2only
c) None of the above d) Both

8 IINIYNTO Z03RT BEVFODY, MOTHSA:

1. $TUSE ozt Yodeens) H0wodaT TEH SEAD BT B0, B030RITH.

2. PUETE TR YoINFOR) VT ReFets® BITO® VRO, SKd BB 3 OFROL It
BITSUMIT.

Q) 13w, W) 230,

) CSRIHTP OO B) QTR A
Who among the following was the first Chief Election Commissioner of India ?
a) K.V.K. Sundaram b) Sukumar Sen
c) M. Patanjali Sastri d) S.P.Sen Verma
020 BA00 WmnEmm So3 8 FYNSIIHNYE 030 SN ?
Q) 8.Q.8. 20800 W) RBDIWOT Hest
%) 0. B2oRO Ty B) QT A IRE

. Which House shall not be subject for dissolution -

a) Loksabha b) House of people
c) Council of State d) State legislature
03505 AT QBWESRARE HRODE, WITRHOL ?
D) Bnes B’ V) BIN I3
%) O0% Y @) oot ZHRTON
Normally, what kind of session does the Parliament hold -
a) Budget session b) Special Session
c) Winter Session d) All of the above
TEE, ROTE B 0BT B3R HFE BHRBT SERIT ?
Q) 223 WOFeB D) IR WO[eB
2) BOMOT BHHCBT B) FedI Qe

.
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1-9. What is the nature of India's Political System -

a) Presidential system b) Parliamentary system
c) aand b both d) None of the above
W00 Do Be0d asba’:gos) K0RB TeNTS ?
®) VFZeod BT B3R Q) RORDEO TITO
) oD | B) HeOF BRYTH VY
1-10. Which Article of the constitution provisions President Rule on the states ?
a) Article 352 b) Article 360
c) Article 356 d) Article 353
RONTOT 03T D ToNY F0eeS TomBFET B9,3 tRORNBLD ¥TZ 3ORIT ?
Q) 352 W) 2B 360
) D& 356 ®) o353

SECTION - II Q%R - I

II. Write a short note on any FIVE of the following. (5x3=15)
8 E9NT SRJH)TRRTR DR, 3T0 L3703 2BeW0:

II-1.  Write a note on principles of Buddhism.
WORHIET BZNG Wiy e3Ted 2B0W0.

II-2. Write a brief note on constituent assembly.
RORTOS B0 B30 B0B OFO £38F,ed WI0WD.

II-3. Explain in brief on unity and integrity of the nation.
3BT DTS TBY MTEFORG 303 X3 FToN WB0WD.

II-4. Mention Dr. B.R. Ambedkar's contribution in the making of the constitution..
ROQGRS CUI0NE Bo. W.Y0°. YoreR T TRT BRRNARTTY 39AD.

[I-5. Write a note on Directive Principles of state.
Do%, ATFEBT IZNY B00Bd E3Te9 WCWD.

[I-6. What is Preamble ? Explain in brief.
BTN 0TBERD ? ROFBZON DTOR.

II-7. Explain a role of Election Commission in India.
103G TR VRRNT Ty HFOA.

I1-8. Write a note on Inter - State Council.
®03T - 0o, ROTP 3D WBOD.
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SECTION - I1I &zon - 11

Answer any THREE questions from the following.

8 BEAR CRRHHETA Swdd ZIROR L3O

Write fundamental duties of Indian citizens.
(0BT TO00 woR0ERe3 53?53@%#32‘ W30WD.

Explain the composition of Supreme Court.
&0 BReEIF S TN ROAD.

Explain the functions of Rajya Sabha.
TOBALIOD TORENITY DFWORD.

Explain the power and functions of Vice President of India.
WUZT ITHFBENT BT R Fo0NFNRTRY AZOR.

Explain Gandhian concepts of Satyagrah and Swadeshi.
MRORERONTT AZT 3B BT3ed JOFLINITY, H:OR.

SECTION - IV Q2R - IV

Answer any TWO of the following.:
8: $SARYNOR L03d2.

Explain the salient features of Indian Constitution.
5008 ZONGRRE BRND OFLNTTY D=OAD.

OR &g

Explain the Amendment method and process of Indian Constitution.

LRUST ROQGRT SNBB WGRT B B,8,0H0HTY IR0

. Explain the fundamental rights of Indian Constitution.

102603 B0 SRS BBYITRY, V0.
OR v

Explain composition, power and functions of Parliament of India.
1008 FORET U, ©0TT0 @) 50N DFOAD.

(4x5=20)

(2x10=20)
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Fourth Semester Degree Examination

August / September 2024
( NEP Scheme)

COMPUTER SCIENCE
Artificial Intelligence Model - 11
(NAC 9020) : Paper : Skill Enhancement Course

Time : 1 Hour Max. Marks : 25
Instructions to students : SRBAVR BoUZRL:

1)

2)

3)

4)

I-1.

I-2.

The students should legibly write section number alongwith question numbers
within the margin ONLY.

QTR PEEe DR "osd Tore T3, Bo3 N BRTON VRUETT 180 wen wdedeles.

The answers without section number and question numbers will not be valued.
otmn Ko, o33 BB Hoadnesy SRHTBE T NIVREE) IPUVT[RTE SRBSMZOY,
Section - I Multiple Choice Questions should be answered in the first page of main
answer book and same questions shall not be answered repeatedly.

QN - 1 BOR L& $503,03 BRYR L0ZTI) 0IT X380 IR HURO wdcled: Tone
3¢ ZLIROR WITIRY DRTOR ST TIRTTH.

Any identifications like marking, ticking, dots etc., in the options of MCQ Questions
(Section-l) on the question paper is strictly prohibited. Do not write anything
(except register number) on the question paper.

B8 3BCHOR AR - 1 8O8 W 8e3,d FZRR BT wod, v03sne (Options) Boed
cSRTHTe 0e3c MOTHB BRUWE UWFATT T FToBOFT, U8, WFHZ), KO RV BRAFHT
(V) 23,0nes; tRtN QUFORTCIAE. B, 58303 e (R1peoned Boad oy BeTB2)
68 CERFH)Ee ITBT WORHERRSTY IRBWTTH.

SECTION -1 &n -1
Select the most appropriate answer from the options provided:

LTALT BeBR00T BRTTHR KITIR, Wod, Sk (5x1=5)
What are the input and output of an NLP System ?

a) Speech and noise b)  Speech and Written test
c) Noise and Written test d) Noise and Value

'NLP' 27,35 e gges® a3 Beaghs® odosy ?

2) aRDDIBY R TR I ODITT,

L) By @ ODIHT, &) B RHRIP,

Machine learning is an application of :

a) Block Chain b) Atificial intelligence

c) BothAandB d)  None of the above

00T, 8BTS 2,003 WBeRa® UNT.

&) et T W) §36 wR0ds

2) & T QCBR B)  BeOT BRIYTO Y

3
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What is Microsoft Azure ?

a)  Amobile device operating system
b) A cloud computing platform and infrastructure

c) A programming language d) Asocial networking site

BRI, BB S0TIe) ?

o) Setot mu sEdons agas ) ¢ SoaHon” e B ORREne
D) PRt tog B) AORPBF OTD

Which of the following is a data visualization feature in power BI ?

a) Charts b)  Word processing

)  Video editing d)  Animation

SYRIHNYY cImych BT0° WO devm 3 e80e00 S D TN ?

D) e ) @3 RRI%

¥)  Dedodee dREoT 8) ©DeRD®

What is a measure of Power BI ?
a) A qalculation based on data in a data set
b)  Avisualization option for displaying data

C)  Afilter that restricts the amount of data displayed in a report
d)  Aconnection to a data source
TR0 2 ©¥3 Q0TBed ?

D) BEDIFIOS Bty S50 S59,:2390
W) BenTI BTLERO w0y T®e80r0 G503,
2) TOR0ND BBRIFZT Beens TEIVEITY, AWEORET H,0°
) dBed SR8, oI
SECTION - II &R - 11
Answer any TWO questions from the following:
81 39NN cRYmEtL Ao BBACR Lvgoa: (2x5=10)
Discuss natural language processing in AL
Al 39 33NFE o RORTFODY, edede A
Explain Tune Model, Hyper parameters in Azure machine learning.
BRI 030033DFCNY LATHBRBST BFo TRTICTTIY, DTOA.
Describe visualize data in power BI.
SR0° Bl 39 BernonTy, 5P es0RRHRIY HR0R.
Write a note on data analysis in power BI.
BR0® Bl I et QJeRmBodd 85031 £33 wB0wD.
SECTION - III &7 - 1T
Answer any ONE question from the following:
81 YN CIRFYTRROL 2.0 B3R I, (1x10=10)

Explain visual tools to create machine learning models with Azure machine learning.
VT 0308,30F0300078 03208 FDFCH FSPTONTRY, Beszen T3, RTINSy ATOA.

Describe features of Computer Vision Workloads on Azure.
BRATTY FOTPEIT® IRI® I SReE Y I, S8, OTOA.

Explain Artificial intelligence workloads and considerations.
333 LRHW0SFOD Fo0FLRT FBY BONREIINTY DRV

* % %
4
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Fourth Semester Degree Examination
August / September 2024
( NEP Scheme)

COMPUTER SCIENCE
Artificial Intelligence Model - I
(NAC 9020) : Paper : Skill Enhancement Course

Time : 1 Hour Max. Marks : 25

Instructions to students : DMBEAVR TSR

1) The students should legibly write section number alongwith question numbers
within the margin ONLY.
DRHEOIN LN o, Tone T3 BoadRURy B &N BRI 11803 wen wdesedess.

2) The answers without section number and question numbers will not be valued.
un o 33 B3 B0 NeRy, SSARXTBE FCHT LUIBRER) IPOTNIT IRROIMRHRO,

3) Section - I Multiple Choice Questions should be answered in the first page of main
answer book and same questions shall not be answered repeatedly.
2n - I8OR wE ed,ed ZIRVR TR 1038 Fe,Fed BerRw RWRY 20803223¢3> TN
©78e IR YWITIRY RRoRELLROT.

4) Any identifications like marking, ticking, dots etc., in the options of MCQ Questions

" (Section-l) on the question paper is strictly prohibited. Do not write anything

(except register number) on the question paper.

23, BEBNOR Qgen - 1 BON wB> @0 TIRVR VerBeT wod, vo3sne (Options) Boe’
SRzde Dededd MBI BeUE WBNTT FZ TBRZ, o, W, A0 NIBIB IRRBORHTD
(V) 23,0nes) g RtN ALFoRROING. T8 38,303 0ed (J000883 Hos3 030833 BTBIBR)

2368 BRH)e TR WIRLBANTR), SRBEWRTRL.

SECTION - I &%n - 1

I. Select the write answer from the following:
B2L 0 weddO HOoIRT YIBITY ek

I-1. Who is the father of AI ?

(5x1=5)

a) John McCarthy b)  John Henry

c) Steve Jobs d) Charles Babage
Al Z &Zod® 0338d ?

Q) 2T THE W) WD,

R)  Rew® 20T B)  wof) wiers®

I-2. Which is not an online shopping application ?
a) Amazon b) Flipkart c) MS Office d) Meesho

FFNTYNTE CINYT YTESTT ZoLOMTN WHBRRMHYOL ?
Q) BRELHHIE W) QT 2)  NO.QFS. BSHeRS ®) eBee

1
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1-3. Which of the following is not a virtual assistant ?
a) Google assistant b) Amazon Alexa
¢) Windows Cortana d) Google pay

FENTIYNSD 03T TSI FHHT ¥ ?
Q) MRS BT3B W) BB ¥SFY

) DOBRETT BRCLIDETO ®) nenos Se
I-4. Which of the following is a Al based application ?
a) ChatGPT b)  MS Office
c¢) Windows OS d) VLC media player
SEATIINTE IR0 Al $5008 BLFeRT® SATS ?
Q) ez Bues ChatGPT W)  MS esoext
2)  oodweext OS &) VLC aoerosso &e03do®

I-5.  Which of the following are the components of robot ?
a) Actuators b)  Electric motors

c) Pneumatic air muscles d) Allthe above
EINTIINTO Brewdnetsss Prsnsd SRR)w) ?
Q) SBRHOELIT O ) RSYFE [REIPTOND
) BRFTEEE OO° ZoIED 8) BeOT QTP
SECTION - IT 231 - 11
II Answer any TWO of the following:
(2x5=10)

39N CIRTYRBH HBWB BIAOR Lv3d:
II-1. Explain the history of artificial intelligence.

333 w@pm:ﬁoﬁa L DEOVEAD SN
II-2. Explain the different types of intelligence.
20G D3 WRTITY, QTOA.
Explain the use of artificial intelligence in the field of travel and navigation.
Bodre 3B MWPeRT® LIRS F3T LORTTAH WIFHR) AT[OR.
Differentiate robot system and other artificial intelligence programs.
Soeedpets® AZRIT T 2T BT WREF Fm,ONY SBAT IZ)F 39A.

SECTION - III &R - 111

III. Answer any ONE question from the following:
8 §9NT BRRTRTOL LoTE, YZDA.

III-1. Explain applications of artificial intelligence.
g8 wEZOD VQFRTTIHR) D[OA.

I1I-2. Explain the different components of robot.
BReWREETTE QNG FLIBAYTY DTOA.

I1I-3. Write a note on Atrtificial Intelligence techniques.

338 LRI 03¢ 21} WD
* % %

I1-3.

11-4.

(1x10=10)

2
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Fourth Semester B.Com/B.B.A./B.B.A(TTM) Degree Examinations

August/September 2024
(2022-23 Syllabus) (CBCS NEP SCHEME)
ENGLISH LANGUAGE

NCD/NMD/NTD 0080: PAPER-IV-INTROSPECTION AND ART OF COMMUNICATION

N
L
Time : 2 Hours

(WORK BOOK)

Max. Marks : 60

Instructions to condidates :

1.

I

I1.

I2.

I3.

[4.

I5.

I6.

I7.

The students should legibly write section number along with question numbers within the
margin ONLY.

The answers without section number and question numbers will not be valued.

Section-I Multiple choice questions should be answered in the first page of main answer
book and same question shall not be answered repeatedly.

Any identifications like marking, ticking, dots etc. in the options of MCQ Questions

(Section-1) on the question paper is strictly prohibited. Do not write anything (except
register number) on the question paper.

SECTION-I
(UNIT-1 -READING SKILLS-ANIMAL FARM)

Fill in the blanks with the most appropriate answer from the options given. 10x1=10
Starts the idea of rebellion in ‘Animal Farm

a. Mrs. Jones b. Boxer
c. Old Major d. Squealer
is the earlier name of Animal Farm
a. Manor Farm b. Napoleon Farm
c. Pigs Farm d. Major Farm

The first battle between the humans and the animals is known as
a. The Battle of Cowshed b. The Battle of Beasts

c. Pigs Revolution d. The Battle of Pigs
adopts the personal maxim, “I will work harder”.

a. Old Major b. Boxer

c. Snowball d. Squealer

Napoleon sells to Frederick.

a. Oats b. Cash

c. Timber d. food

The laws of Animalsim are called in the novel.

a. tenets b. laws

c.commands  ~ ' d. commandments

The son ‘Beasts of England is substituted by

a. long Live the Queen b. hail Mary

c. stars for Snowball d. Song praising Napoleon
1
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[8. Mr. Whymper is in the novel.
b. A buyer

a. Another farmer
c. A Middleman for Napolean’s dealings d. Napoleon'’s representative in the parliament.

19. * Animal Farm' is a political allegory of
a. French Revolution b. Industrial Revolution
d. Green Revolution

c. Russian Revolution
110. can be identified with stalin in ‘Animal Farm’. e
a. Old Major b. Squealer
c. snowball d. Napoleon
SECTION-II

(UNIT-2 -LISTENING SKILLS AND UNIT-3-SPEAKING SKILLS)

I Write short notes on any FIVE of the following choosing THREE from
Unit 2 and Two from Unit 3 in a paragraph each : 5x3=15
[11. Leila Seth’'s mantra : “inheritance, not dowry”
I12. Preeti's request to the audience regarding people with disabilities.
I13. Speaker's experience when he visits to the neighbourhood shop in the poem, “Soap’
I14. The miseries of the people in the poem, ‘My People’.
5. The essential elements of making speeches
I16. General guidelines for participating in a Group Discussions.
I17. The key strategies of making public speeches.
[18. Preparation for facing an interview.
SECTION-III
(Unit-4 -WRITING SKILLS)

IIT Answer any THREE of the foliowing questions in a Page each :
II1 1. Prepare a travel writing about a place you have recently visited

I1I 2. Write an article for a magazine on mass media
I1I 3. Write an email to your father informing him about your success in debate competition

ITI 4. Write a blog post about your favourite recipe
I1I 5. Imagine your are a principal of a college. Write an email appreciating your teacher for

conducting a special lecture on preparing for competitive exams.

3x5=15

SECTION-IV
(ANIMAL FARM, SPEAKING SKILLS AND WRITING SKILLS)
IV Answer the following questions in about two pages each:
IV 1. a. Discuss Animal Farm as a political allegory 1x10=10

OR
b. Give a brief account of the ‘Battle of the Cowshed’ and Snowball’s role in it.

IV 2. a. Your college has organized blood donation camp. Prepare a vote of thanks

for the event.
b. Write a facebook post announcing a restaurant anniversary offers. 1x5=5

1x5=5

dedekkkkk
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ORI BT 0.590. VWD BOeS, ¥riws,/1F000*, 2024
(AVAQTE / QRraR 260)
IR TP B3 - 4
(NCD 0010) Zpeoridy - 4

BIQ ¢ 2 noedned nog, ®o8nss : 60
SBrAOR Ko

1.
2.
3.

L.

I-2.

I-3.

I-6.

I-7.

QWP ymn Bosd, Tonwe T3 Lo neRy, RN BRAETT 11803 1R wdsdidess.
N Koad T &3 Bosd N BRMeRRHe 2008 HOBBRYRY IPORRTE IRACIRTHE,
S - 1898 WEd $ede BBRR w0ZoRS) 1030 B38eDH ST HBHO 18eH3eE TNRe
3 ZIROR LITIR), RRTOTSELLITTR.

T8, BEROR Qron - 1 BOR wBd wodod BIROR By &od, wv3one (Options) e

o&bw)dc aeéo&) BB mus wiﬂ%d 53 m&ﬁ)& ubS "adod)z:b ﬁ& BB IRRBOTHTR
(V) 2> ) ORTRY BN auroaﬂmﬁd s 8 88,803 Roes (dmo:sté Ros3 0y, BRTBTRR)

3¢ oma)de 3655 udzséﬁmab Mdmdm
N - 1
TOSIRT LOITRY, 5633 2BOWO. (10x1=10)

f‘edda’% B m&:ébd QATVRD® DO 560333338.
(®) 2.8 0ox0ZP () 203, Booess
(=) o2 Dorte300HBd (&) a.9.2.

BROT 203> T,369, BoSTRON Do’ A 03T FRHT FSONT?

() BFoxy (8) ©.00. 2Be0d,

() =3 Soseies ©30mT® (83) dTTR 59803 |

RENT TG BORT BEMHNG SBenmRY VLD ... R0 AGIRTI, WIRTIHIT.

(&) mg=r Ba' (&) D8RS (?) B.oazs. () Wedo HE®
TBUGIRD TR B3 BOZONTY, DFF. Q. BOREBT 383 TT ... DOV BRI FOFOTOCT
©02, ERRIRYDNG.

() ©od» dwﬁ (&) 0xrees () ooned (88) T
T, 1208 TORROT TOO' QOTTTI vvvevverennene

(®) woa:s (&) o7 () oF (8) &3

(Sovoly Jw.auuz-l EDM ToBTIRTD.

(®) wmzbwabe KYAD) q@d (&9) TR, BOR0T XOX 3

() OoeRovEs Spea® 0oodse (85) 838000, NmENT

£3.83.23.030830 wevuenvnrerrnens 8,203 8RR BINRReS Q0md BTN,

() 00823 81 (&) 0T BOROD BN

(2)  eVRTS WA (8) T WZBdS
1
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BOBOT, BOT, oo Fe3, 00O,
() B30 () odoen (7) R (88) s
SR Hed AT LT TR ..cvvvevee
() nomw () OB () 20z (83) Baed
TR 5 v DRST]N BUOTSHIE.
(®) 2T, @draer& o () 03, FOAT BT
(%) 28303 (88) OB wI"oT, BF
N - 11
BRFYTRRTR 05 SRRV L3368 28000. (5x3=15)
T ROJN WRARD
BRO WA

0BERT INNT TN T0FLF
‘ASRH SRTIT' 330 BB
WITT Ned
‘xdaé) 5008’ I3, BeBT 2003 Gl
BZ0RWOW B¥Red
T QLW S
N - 1T
3NS FoR0d B ZROR 0BT L0ZT LBWD. (3x5=15)
0B, FR0DFE S[ORIT S03EANMOPOTIOTS IRV [edF R

BB SHOMR ROTFNI, ST WEER MR, FRHED 'XBX, BT 303
Sert 2,8 EPAT?

FRPTI0 O, BFF ST FRORE BT ‘HHLIDHE0D T’ IR FHert WoRSTONT?
DIFT QVF, BFZH ‘TN’ BRI Hert YTORTLRRORT?
3R30% BFT Je0RN WRFBWABT FBLWNIT DPOINTTY DTOA.
Qen - IV
81 89S ZBnOR HBNTTT $0IT 230WO. (2x10=20)
VTP, R0LIR,TIE303TT) 3ROR 820N IR0, BOZTVONT SO LTI, Bert HIBRATRT?
T
SRelBBT MOT RO Bore 0T, BReTRTY AeOA.
BAR LT BT TRTR) BLRFE 3eOTZRNHT SeDIBY Terf wToITeorieoRT?
(D)
REoFD BIeh 0ordesd ? X5orD BYNY LNTI) HR0A.

% ok ok
2
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Fourth Semester B.Com. Degree Examination
August / September - 2024

(CBCS-NEP-SCHEME)
COMMERCE

PAPER : NCD 0210 : Advanced Corporate Accounting

Time: 2 Hours Max. Marks : 60
Instruction to Students:

1.

The students should legibly write Section number along with question numbers within
the margin only.

The answers without Section number and question numbers will not be valued.

Section - I Multiple Choice Questions should be answered in the first page of main
answer book and same questions shall not be answered repeatedly.

Any identifications like marking, ticking, dots etc., in the options of MCQ Questions
(Section-1) on the question paper is strictly prohibited. Do not write anything (except
register number) on the question paper.

Ordinary calculator may be used.

SECTION - A
Select the most appropriate answer from the options provided. One mark each. 10x1=10

Agreed Value of Assets is Rs. 5,00,000 & Value of Liabilities taken-over is Rs. 1,50,000 then
the amount of Purchase Consideration is Rs

a) 5,00,000 b) 1,50,000

c) 3,50,000 d) 6,50,000

What will be the amount of Liquidators remuneration payable at 2% on amount
distributed to unsecured creditors, if the total unsecured creditors is Rs. 1,25,000 and
the Amount available to unsecured creditors is Rs. 1,05,000.

a) 2451 b) 2500 c¢) 2059 d) 2100

X Ltd. Has 5,000, 12% Redeemable Preferences Shares of Rs 100 each. The company
decided to redeem them by issuing equity shares of Rs 100 each at a premium of 10%.
The minimum number of equity shares to be issued are

a) 4000 shares b) 5000 shares

c) 4480 shares d) 5600 shares

If a Company Decides to Reduce Rs 3 per share on its 70,000 Equity Shares of Rs 10
Each full paid. Then the amount transferred to Capital Reduction Account is

a) 2,10,000 b) 73,000

c) 4,90,000 d) 21,000

Accounting Standards in India is governed by the
a) Institute of Chartered Accountants of India b) Income Tax Department
c) Reserve Bank of India d) Company Law Board
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Agreed Value of Assets taken over is Rs 7,50,000, Value of Liabilities taken-over is Rs. 1,50,000
and the amount of Purchase Consideration Discharged is Rs. 9,00,000 then the Value of Goodwill
given by Purchasing Company is Rs

a) 7,50,000 b) 4,50,000

c) 3,00,000 d) 1,50,000

What will be the amount of Liquidators remuneration payable at 3% on amount distributed to
Equity shareholders, if the amount available to Equity shareholders is Rs. 3,00,000

a) Rs 93,000 b) Rs 27,000 c) Rs. 31,000 d) Rs. 9,000
Redeemable preference shares must be redeemed within

a) 5 years b) 10 years

c) 15 years d) 20 years

If there is any balance in the capital reduction account after writing off all the accumulated losses,
then the same is transferred to

a) Share Capital Account b) Capital Reserve Account
c) Share of Holders Account d) Profit & Loss account
Which accounting standard is applicable for valuation of inventories?
a) Ind AS - 1 b) Ind AS - 2
c)Ind AS - 3 d) Ind AS - 4
SECTION - II
Answer any FIVE of the following Questions. THREE Marks Each. 5x3=15

Mention the Various Types of Preference share.
Write a Note on Voluntary Winding up of Company.
What is Social Responsibility Accounting.

A company has to redeem Rs. 1,00,000 worth of preference shares at a premium of 10%. The
amount of divisible profits and securities premium account available in Balance Sheet is Rs.
19,000 and Rs. 1,000 respectively. Find out the sufficient number of Equity Shares of Rs. 10 each
to be issued at a premium of 20% in order to redeem the preference shares.

X Ltd. is acquired by Y Ltd. agrees to make the following payments:
1. Cash at Rs. 5 per share for 10,000 shares of Rs 10 each held by X Ltd.
2. Issue two shares of Rs 20 each for every five shares held in X Ltd.

3. Discharge Rs. 1,00,000, 12% Debentures of X Ltd. At 10% Premium by issuing 13% Debentures
in Y Ltd. Determine the amount of Purchase Consideration.

On the reconstruction of a company, consisting a share capital of 50,000 shares of Rs. 10 each,
the following terms were agreed upon:

a. The Paid up value of Each share to be reduced to Rs. 3.

b. A fresh issue of 500, 5% Debentures of Rs. 100 each issued to the public which was fully
subscribed and amount Duly Received.

c. They decided to Write off Goodwill of Rs. 1,50,000, Plant and machinery of Rs. 75,000, Premises
of Rs. 1,25,000. Make the Journal Entries in the books of the company necessitated by the above
reconstruction.
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Reddy Co. Ltd. went into voluntary liquidation with the following.

Secured creditors Rs. 40,000 (securities realised by the liquidator Rs. 50,000) Preferential creditors
Rs 1,200, Unsecured creditors Rs. 61,000, Liquidation expenses Rs 500. The liquidator is entitled
to a remuneration of 3 % on amount realised. The remaining assets realised Rs. 52,000. Prepare

Liquidators Final Statement of A/c.

Calculate the Amount of purchase consideration and its discharge from the following.
i) Value of assets as per balance sheet Rs. 25,12,750.

i) Agreed value of assets taken over Rs. 18,21,570

i) Liabilities as per balance sheet Rs. 3,21,570.

iv) Liabilities not taken over Rs. 21,570.
v) The Purchase Consideration is discharged in 14,000 Equity shares of Rs 100 each and balance

in cash.
SECTION - Il
3x5=15

List out any 10 Indian Accounting Standards (IND AS) issued by ICAI.

Distinguish beween Amalgamation and Absorption.

A company had 5,000, redeemable preference shares of Rs. 100 each fully paid. These shares
were due for redemption on 31st March 2023 at a premium of 10%. To carry out the redemption
the company issued 1,250 equity shares of Rs. 100 each at a premium of 5%. The company had
a balance of 25,000 in securities premium account and 4,87,500 in profit and loss account. Pass
necessary journal entries.

The following is the Balance Sheet of Small Ltd. as on 31.03.2023.

Liabilities Rs Assets Rs
Share Capital:
Equity Shares of Rs 10 each 20,000 Fixed Assets 21,000
Profit & Loss Account 7,000 Current Assets 19,000
Creditors 13,000

40,000 40,000

Big Ltd. agreed to take over all the assets and Liabilities. The Purchase Consideration was to be
settled by the allotment of 2,000 shares of Rs 10 each, at a market value of Rs 12 per share and
the cash of Rs. 5,000. Pass opening Journal entries in the Books of Big Ltd.

Preethi Mining Co. Ltd., went into voluntary liquidation on 1-4-2023 you are required to prepare
liquidators final account allowing for his remuneration at 3% on realisation of assets and 2%
distribution to shareholders. Following being the position of the company as at 31.3.2023.

i. Cash on realisation of assets Rs. 5,00,000
ii. Expenses of liquidation Rs. 7,000
iii. Unsecured Creditors Rs. 68,000

iv. 5,000, 6% Cumulative Preference Shares of Rs 30 each fully paid Rs 1,50,000
v. 10,000 equity shares of Rs 10 each fully paid Rs. 1,00,000

vi. General Reserve as at 31.03.2023 Rs. 1,24,000
vii. Dividend on preference shares have been due for 2 years.

3 .
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SECTION - IV

2x10=20

IV-1. a) Who is a Liquidator? What are the functions of a Liquidator...?

b) Bring out the Differences between the Two methods of Accounting for Amalgamations.

OR

Arun Company Ltd. is absorbed by Manju Company Ltd. Balance Sheet of Arun Company Ltd. as
on o1 03.2023 is as follows.

Em—

~ Liabilties

Rs Assets Rs
T‘Qhare Capital: Goodwill 2,50,000
' 60.000 equity shares of Rs 50 each fully paid 30,00,000 | Land &Buildings 7,65,000
- General Reserve 3,20,000 | Plant & Machinery | 22,00,000
Profit & Loss Account 1,80,000 | Patents 50,000
8% Debentures 15,00,000 | Trade Mark 25,000
' Creditors 2,00,000 | Investments 50,000
| Stock 10,60,000
Debtors 4,50,000
| Bank 3,50,000
| 52,00,000 52,00,000
Manju Company Itd decided to:
a) Discharge of debentures at a premium of 5% by the issue of 6% debentures in Manju
Company Ltd.
b) pay a cash of Rs 30 per share and
¢)  Exchange 3 shares of Rs 10 each in Manju Company Ltd. at an agreed value of Rs 15 per
share, for every share in Arun Company Ltd.
d)  Liquidation. Expenses of Rs. 5000 met by Arun company Ltd.

IV. 2 a) Briefly explain the various methods of Cost Based Methods of Valuing Human

Resource Accounting.

b) State the Conditions for Redemption of Preference Shares.

OR
Balance sheet of Sanju Limited as at 31st March 2023 was as follows:

Liabilities Rs Assets Rs x

hare Capital: Goodwill 15,000

2,000 Preference Shares of Rs 100 each 2,00,000 | Freehold Premises 2,00,000

4.000 Equity Shares of Rs 100 each 4,00,000 | Plant 3,00,000

5% Mortgage Debentures 1,00,000 | Stock 50,000

Bank Overdraft 50,000 | Debtors 40,000

Creditors 1,00,000 | Profit & Loss Account 2,45,000
8,50,000 8,50,000 |

The following scheme of Reconstruction was approved by the Court for the Company.

N

oW

Preference Shares to be reducted to Rs 75 per share and Equity Shares to Rs 40 per share.
Debenture holders to take over stock and Debtors in full satisfaction of the amount due to
them.

Good will to be eliminated.

Freehold premises to be depreciated by 50%

Plant to be appreciated by Rs. 50,000.

Journalise and prepare the revised Balance sheet in the Books of Sanju Company.

ok
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The students should legibly write Section number along with question numbers within
the margin only.

The answers without Section number and question numbers will not be valued.

Section - I Multiple Choice Questions should be answered in the first page of main
answer book and same questions shall not be answered repeatedly.

Any identifications like marking, ticking, dots etc., in the options of MCQ Questions
(Section-I) on the question paper is strictly prohibited. Do not write anything (except
register number) on the question paper.

Ordinary calculator may be used.

SECTION - A
Select the most appropriate answer from the options provided. One mark each. 10x1=10
Job costing is a method of

a) Job ascertainment b) Over heads

c) Job cost sheet d) Job Number

The Method of costing for Road transporation is

a) Job costing b) process costing
c¢) Marginal costing d) service costing
The cost of one process is transferred to the

a) Stock A/c b) Next Process A/c
c) Work in process A/c d) Profit and loss A/c

The systems calculate the costs of Individual activities and assign costs to cost objects is
called

a) Machine Hour rate b) Activity based costing

c) overhead costing d) Abserption of overhead
Calculate the contribution when sales is Rs 600000 and variable cost is Rs 2,00,000
a) 3,00,000 b) 8,00,000

c) 4,00,000 d) 10,00,000

When Fixed cost is Rs 9600, Sales Rs 25200, profit Rs 3000, p/v ratio is -

a) 60% b) 65%

c) 50% d) 75%
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When p/v ratio is 25%, profit 50000, then margin of saftery is
a) 250000 b) 2,00,000 c) 2,25,000 d) 2,60,000

When opening stock 200 units, purchases 2000 units and closing stock 1000 units, Then, the
actual Quantity of output is -

a) 1000 units b) 1200 units c) 800 units d) 3200 units

A bus carries 20 passengers daily for 30 days and its mileage per month is 2000 kms. Its total
kilometers are -

a) 55000 b) 60000 c) 65000 d) 70000

200 units were introduced into process, Normal, wastage is 5% and actual output was 180
units. What is abnormal loss unit in the process.
a) 15 units b) 10 units c) 12 units d) 15 units
SECTION - B
Answer any FIVE of the following Questions. THREE Marks Each. 5x3=15

What is Job costing?
State three uses of Break Even point.
Define Standard costing and state any two purposes of it.

From the following information, prepare process ‘A’ A/c 1000 units of material at Rs 6 per unit
were introduced in process ‘A’ :-

labour cost Rs 5000

other Material Rs 2000

Direct Exps Rs 1000

Indirect express allocated process ‘A’ Rs 1000.

Normal wastage at 10% of the input.

Calculate Break Even point. When, Sales 2,00,000, variable cost Rs 120000
Fixed cost Rs. 30000

Calculate margin of safety in Each of the following situations.

a) Break Even point 30% . Actual sales Rs. 50000

b) Break Even point 75%

c) p/v ratio 40%, profit 30000.

From the following information, calculate total passanger kilometer.

No. of Buses 2

Days opended in a month 30

Trips made by each bus 2

Distance of route 100 kms (one side)
Capacity of Each bus 40 passangers
Average passanger Travelling 75% capacity
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122
1.8 From the following information calculate the actual sales.
p/v ratio 20%
the Profit Rs 4000
Fixed cost Rs 8000
tal SECTION-C
3x5=15

IIl. Answer any THREE of the following Questions FIVE Marks Each.

1.1 What is Activity based costing? State the objectives of it.

30 .2 What is marginal costing? State any three uses of it.

.3 The following information relate to Job No. 777.

Materials used Rs 2000.
Direct wages:

> A - 30 Hours @ Rs 10 per Hour
B - 20 Hours @ Rs 6 per Hour
C - 10 Hours @ Rs 5 per Hour

| Variable overheads:

! A - 6000 labour Hours = Rs 6000
B - 5000 labour Hours = Rs 10000

C - 4000 labour Hours = Rs 16000
You are required to calculate the cost Job No 777 and the price to give the profit of 20% in

selling price.
A product passes through three distinct process. The cost book shows the following information.

.4
Particulars X Y Z
Rs Rs Rs [
Materials 8000 4000 2000
labour 6000 5000 3000
Direct Expenses 1000 3250 1600

The indirect expenses for the period were Rs 5600 apportined on the basis of labour. The by
product of y and z are sold for Rs. 450 and Rs 550 respectively. Prepare the process A/c
showing the cost of each process.

l1.5 The standard material and standard cost per kg of material required for the production of one
unit of product Z is as follows:

Material 10 Kgs

Standard price - Rs 3 per Kg
The annual production and related material data are as follows:

500 units of product Z
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Materials used 2000 kgs
Price of material Rs 5 per kg
Calculate:

a) Material cost variance
b) Material usage variance
c¢) Material price variance

SECTION-D
Answer the following Questions. TEN Marks Each. 2x10=20
What is Job costing? Explain the features and objectives of Job costing.

OR

Sales Turnover and profit during the two years were as follows:
Year Sales (Rs) Profir (Rs)
2022 180000 30000
2023 200000 35000
You are required to calculate:
a) p/v ratio
b) BEP

c) The Sales required to Earn the profit of Rs. 50,000
d) Margin of Safety at a profit of Rs 60,000
c) Profit, when sales are Rs 2,50,000

A company of builders took to a multi-staired structure for Rs. 40,00,000. At the end of the
year, the company had received Rs 14,40,000 being 90% of the work certified. Work done
but not certified was Rs 40,000. The following expenditure were incurred during the year.
Materials 4,00,000
Labour 10,00,000
Plant 80,000
Materials costing Rs. 20,000 were damaged. Plant is considered as having depreciated
at 25%.
Prepare contract A/c and show the figures appeared in the Balance sheet.

OR
What is process costing? Distinguish between Joint product and By. product.

*kk
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The students should legibly write Section number along with question numbers within
the margin only.

acsasarosw Q5 50336 SR a_.s)% xoaﬂsmsa* RN SRBFIT RS0 wen wdobhided.

The answers without Section number and question numbers will not be valued.

@R Fosh TR T, osdnivR, FHRED YT WITRYE, IPUTRTT TRELILHOY.
Section - I Multiple Choice Questions should be answered in the first page of main
answer book and same questions shall not be answered repeatedly.

Qont- [89R W esoi%osa g%nepﬁ emgddsad T B FRTO PURY wiohes Tone WTC
TIAOR LUZTIR, YITIISF AR,

Any identifications like marking, ticking, dots etc., in the options of MCQ Questions
(Section-I) on the question paper is strictly prohibited. Do not write anything (except
register number) on the question paper.

YBRSFoLOR eeni- [OYS wm wobed JFner deroes wad, vw3on¢ (Options) whed cinz)d
O30 DT BRWE UWB R FTZ THJHW, W WP, IO HHB IR (v) YOI,
RN dROrRRONT. HF) Baodh DHed (Arecond Josdobhwh, BeUBIRR) Bed i
clelesa] &)::Sﬁtéﬁﬂ%m:“z TOTLRTT..

Ordinary calculator may be used.

ma‘mﬁs mso%écasc‘md WEBITITS.

SECTION - I ¢t - |
Select the most appropriate answer from the options provided ONE Mark each:

LENAE BOHNPoR Budh) BT LUBTIRY, Bk, TRR. Jdokeonss, womd Wos. 10x1=10
Indian Contract Act was enforced in the year

a) 1842 b) 1872 c) 1862 d) 1972

7008608 8WTOT FOPTONT), WORAPAT JHRF

a) 1842 b) 1872 c) 1862 d) 1972

A contract is
a) A legal obligation c) An agreement plus legal obligation

c) An agreement plus legal object d) None of the above
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a) wReR mEd b) w@ownag BB IRD mqgé
C) LBOwRE DI IRZ VT3 d) 93 iR g

IPR expansion form

a) Intellectual Property Reserves b) Intellectual Property Risks
c) Intellectual Property Rights d) Intellectual Property Region
IPR &xom de

a) tROF @iy WD b) OB sy LTRODRWD

C) RHE B IRNWD d) 2P0% &2 Tes

The common cyber security threat in cyberspace

a) Malwares b) Softwares

c) Hardwares d) None of the above

Ro B3 TOTPI, KTk Wog W

a) SRYT* b) Bo=zvo3nsh

C) cDOZTVOBNED d) ST cSRPTR B

The minimum number of member to be appointed by central government in CCl, as per the
Competition Act 2002?

a) Two b) One

c) Three d) Four

TGeFEE T0NT 20028 Tged AaR0HY 3008 XEFTR) ey WRT 3P BB K0, HT?
a) AT b) .oz

C) TR d) Soey,

Under the consumer protection Act 2019, the rights of a consumer do not include
a) Safety b) Choose

¢) To be Informed d) To be Present

MEE FoTZme Tood 20190 ©R0HY MBIW LYRROBTT BHRNRW

a) ®ogd b) esody

C) &5oT9% d) SRI2HH

An Agreement made without consideration is

a) Valid b) Voidable

c) Void d) lllegal

TEATOLYT LBOWRT

a) TwETT b) u3nzF3

C) CtR d) wsd

In case of breach of warranty, the buyer can

a) Refuse to pay price b) Repudiate the Contract

c) Return the goods d) Claim for damages only

2
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23008 LVYOTFIOD FOTRFBE, DOOTITT FRBLTE

a) S 8RB VTTORTT b) agomm, ATEEOD

0) RoBrURs, BOSINHY: d) moamn B8, 203
% -~

The term property as used in the Sale of Goods Act 1930 means

a) Possession b) Ownership

c) Neither Ownership nor Possession  d) Either Ownership or Possession
TOBNG =TT FOONT 193009 ¥ BA ITT ©FF

a) AP b) Sdesg,

C) SROeTY, T TP ATER ©Y d) 2o8ee BRDedZ W AReT
Which of the following is a made of Discharge of Contacts?

a) By performance of Contract b) By Agreement

c) By impossibility of performance d) All of these

FINSYNSY 03T wTOTNY BRRE'E =N39?

a) %.TOTT FOONFTTIOD B3 b) eBonad s

C) TODFFTB0H X Z000T d) aseae

SECTION - Il oywrt -

Answer any Five of the following questions - 3 marks each.
NS CIRRYTRRTR DX JZAER L0IOR. J30dAOTER, FeT> SO,

5x3=15

What is sale & Agreement to sell?
TR0E Y FIDTE WRED WBOWRE Q0TBeN?

Briefly explain the rights of unpaid seller.

RS TEODT FPTLMWOT BRI, FOFTN DIOR.
Write a short note on Competition Commission of India.
T3 swzpar godeens DOD wc'gsé LBoN0.

State the objectives of Environment Protection Act 1986.
BOXT ROTFD FOONT 19868 VT EINT, 9A.

What is Patent rights?
Berdowr® TR Q0TBEN?

What is Free Consent?

Fg A DOTTEH?

Write a short note on Contractual Capacity of Parties.
ugodd mmqsém 303 wagsé Ww3BoND.

Write a short note on Conditions.
ROBAY 0 Led WO,
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SECTION - lll &eork - M

Answer any THREE of the following questions. Five Marks each.
NS APt At JBRYR 130, YIokeontn, wrbh LoEN:.

Briefly explain the Discharge of contracts.
LTOTNY WRNBEODI), FO3TzN D[OR,

Explain the exceptions to the rule of Sale by Non-owners.
SROCFTRTHT TROWT AODIT LTOWENT), LTOR.

Briefly explain the scope of Intellectual Propert Rights.
POF Sy BRNY T0H0H], ROFTTN LR

Briefly expain the rights of consumer under the Consumer Protection Act 2019.
M%T XOTI®e 5908 20190 ©R0NY MBS BN, FOFITN WO

Briefly expain the types of environment pollution.

TOXT SRITT AFRI, BRUTN LTOR.

SECTION - IV &zt - IV

Answer the following questions. Ten Marks each.

NS I nort wo3oz, Hacdeoman, 10 wosnsh.

What is Contract of Sale? Explain the essentials of Contract of Sale.

SRTWT WTOT 20TTeN? BITHWT WTOTT VEIF WOINTTY, VWO,
OR/ege

What are Contracts? Explain the essential of Valid Contracts.

LTOTND Q0TTED? msémzs wTOTT @5556 @OSH%“ES)&\ QTJDA.

What is a Breach of contract? Explain the remedies to breach of contract.
LTOTT YOQOTT DOTWTERD? 2.TOTNG LOYOTFIN TOTOTNRFR, DFOR.

OR / vgm
Explain the different Consumer Redressal agencies which are operating in India.
FROBTY FODF ABFHRIIWT DA MOBT BOBT DA, DIOA.

*ksksk
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2x10=20
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